
KITCHEN CART
CHARIOT DE CUISINE
CARRITO DE COCINA

V66-20367



- 2 -



- 3 -

#1

#2

#3
#3

#4

#4

#5

#5

#6

#6

#7 #8

#9

464908MTL-01-V66

464908MTL-02-V66

464908MTL-03-V66

464908MTL-04-V66

464908MTL-05-V66

464908MTL-06-V66

464908MTL-07-V66

464908MTL-08-V66

01

01

02

02

02

02

01

01

Tray / Plateau / Bandeja

Handle / Poignée / Manija

Wine rack / Porte-bouteilles de vin / Botellero

Upper rail / Rail supérieur / Riel superior

Side frame / Châssis latéral / Armazón lateral

Bottom rail / Rail inférieur / Riel inferior

Shelf / Plateau / Útil

Bracket / Équerre / Abrazadera

464908MTL-09-V66 01Bottom panel / Panneau inférieur / Panel inferior

464908MTL-00-V66 01Hardware pack / Paquet contenant la quincaillerie /
Juego de herramientas



A 04

B 02

C 14

D 06

E 18

F 03

G 02

H 02

IMPORTANT: 
1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT: 
1. Ne serrez pas complètement les boulons jusqu'à ce que tous les boulons soient complètement alignés et 
insérés dans les trous / écrous.
2. Ne pas trop serrer les vis et les boulons pour éviter d'endommager les filets.
3. Utilisez des outils à main pour assembler ce produit. N'utilisez pas d'outils électriques.

IMPORTANTE: 
1. No apriete completamente los pernos hasta que todos los tornillos estén alineados completamente y se 
inserten en los agujeros / tuercas.
2. No apriete demasiado los tornillos y los pernos para evitar dañar los filetes.
3. Utilice herramientas de mano para montar este producto. No utilice herramientas eléctricas.

- 4 -

I 04

Allen key / Clé hexagonale / Llave allen Supplied / Fourni / Incluido

Not supplied / Non fourni /
No incluido

Philips screwdriver / Tournevis philips /
Destornillador estándar

Supplied / Fourni / IncluidoOpen spanner / Open clé / Llave abierta

Bolt (1/4"x40mm) / Boulon / Perno

Bolt (1/4"x30mm) / Boulon / Perno

Bolt (1/4"x12mm) / Boulon / Perno

Screw (1/4"x15mm) / Vis / Tornillo

Screw (4.5x15mm) / Vis / Tornillo

Spring washer / Rondelle à resort /
Arandela de muelle

Caster with brake / Roulettes avec frein / 
Ruedas con freno

Caster without brake / Roulette sans frein
/ Ruedas sin freno

Hook / Crochet / Gancho



1.

2.

- 5 -



3.

4.

- 6 -



5.

6.

- 7 -



7.

8.

- 8 -



# 464908MTL01U

MADE IN VIETNAM
FABRIQUÉ AU VIETNAM
HECHO EN VIETNAM

V66-20367


